Factorising

1  Factorise the following expressions:
a) Bx+20 b) 3x+6

& -3 f) 4t + 16x

2 Factorise the following expressions:
a) x*+8x+15 b) xX+ 10x +24
g) x+2x -3 f) *+2x—8

i) x*—12x+35 i) 2—1lx+10
3  Factorise the following expressions:
a) x — 144 b) «* =38

g} 9x* —1 f) 16x* -9

4  Factorise the following expressions:
a) 2xr*+1lx+5 b) 3x*+19x+6
e) 7x* — 6x—1 ) 12x*+Tx+1

3x* +17x —6
8x* + 6x + 1

d) 8§—12x

hy 9x%—15x

d) 2 +15x+36
h) »*+7x—~18
) x*+12x+27

&) x+—121
h) 252-16
d) 6x*+Tx+2

h) 8 —6x+1




Ly Snfjlq Brockets
Q) Bat20 = H(2x+5)

b 3at+e = 3(+2)
Q le+gx = B(2+x)
d) B—138,. = 4(2"3-")
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A LT 4Bt Is = (13 +5)
b) OL™+103 +24 = (Lt6E)Yx+y)
Q ot +9ats = (O+gYat )

€)x*-51 = x(a-g)
-ﬂ Yoct+l6oe = Yo (oL -H—})

9) Bt ~20a= b2 -5)

h) 9o =52 = B¢ (3x-8)

d) at2x-3 = (A 43V =) 24+ISx436 = (ot aYout)

a x2l+2x -3 = (l‘f‘S )(l-*!)
£ a?+tam-8s O+ 4)(x)
j7 AL=PH=8 = (1*5)(11—0
W o+ 71 -1% = (ra)x-2)

By, e =288 = (=7 5)
J) x2 —llx+lo = (x-10)ae—1)
@ X L+—I13y +22 = (:f-_“)(j-‘z—J
L) X2 4125 +27 = (a +2)(= +9)

3 _'DLH-ErcamOi— £ Sgusres
O) -y = (ot -12)

b xz— 3¢ - O+ @) (o-6)
&) SER—] = (et E-D
d) xr-2) = (ot D)(2e—11)
&) -t 2 Ee Ym0
f) lex*-9 = (4opafua—3)
Y9 2=1 = (Tt (T

W) 2511 —j= (51—r@(51_@



. Harder Double Brackes

o) Zal+llat5
2L FIHE+ TS

A2 [ot5) +1[ A +S)
(Z+Dcts)

]a) IE=-19a 46
3 pa +x 16
3x(a+6)+i(xt+o)

(BJLfD(l'i'G)

Q Zx2+171 - 6
Aot = Hhx. ==
3x(oLt8) =1 (2+6)
(3x-DX+6)

) Gal Ttz
6x*+3a +ua +2
S (2 )) +2{ 2004))
(3 +2)@actD)

Xid. +17

E) TA L =G = | L Sl S
Tt =10 +o0 - |
T (o)) + 1 (o)

(7o e 1)

A 1232 +7t] X 12l +7

(20435 +yo + |
B4+ + ([ L{—;i_-frj)

(31@@3&&

x|8 t19

X1lo + 11,

Sl T o

9) Bxr+eat]  x% +6
DX+ 2o +4oL
f Lot 1) + (Wt )

(2t )b t)

h) Ba1—62 4 X% +%

Bat-Uuya 2u + |
LFI[ZDL-J\—:{(Z:L . i)
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